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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 3x zofea # e Hfav F Bu v @9g # 3w99a & Question 1D - 9864495159

Find the person who does not belongs to the group Status : Not Answered

Ans m EﬂTmT Chosen Option : -
1

Pentala Harikrishna
. Rregarye 3meie
Vishwanadhan Anand
P E
Koneru Hampi

S 4 :

Saina Nehwal

az & 1§ ’{Iﬂ?ﬂ & 39T & U T e Question ID : 9864495166

Status - Answered
J-11, L-13, N-15, P-17, ?, ? Shess e
Find the next two terms in the series
J-11,L-13, N-15.P-17,2.?
Ans o' 1. 0O-15,R-16
X 2C-3, H-8
< 3 R-19, T-21
X « R-18, V-22

Q3 St o Fie A FHE R F9 F HF I A G T @A AT Question ID : 98644935675

Which group of animals are exclusively free living marine animals? Status : Not Answered

Ans m Chosen Option : -

v

x




Fmyfarer
Arthropoda
feAeEr
Nematoda

o

4

Q.4

Ans

0.196 + 1.96 + 19.6 + 196 =?

0.196 + 1.96 + 19.6 + 196 =?
X 1. 216.756

Question 1D ;9864492800
Status  Answered
Chosen Opfion ;4

X 2217676
X 3 216.856
W 4 217.756

Qb5

Ans

mmmtﬁmmmﬂﬁmmmwwmn
41 3 31 &, e 12 & we A e fr a0 sifae T #@
T T R W A A

Two waler-squash mixtures, the first having a water-to-squash ratio of 4 ; 1 and the other

Question I1D ;9864492725
Status : Answered
Chosen Oplion : 4

having a ratio of 3 ; 1, are blended in the ratio 1 2, What is the water ; squash ratio in the
blend?

XK14:3
X 219:11
MN317:13
vi23:7

Q.6

e & ¥ 7 o1 Fduaa &1 g6ar 22
‘Which of the following can undergo sublimation?

Question 1D : 9864493507
Status : Answered
Chosen Option : 1

s v HAATH Farss
Ammonium chloride
 ; AT gowEs
Ammonium sulphide
x , IR Fee
Ammonium chlorate
x 4 HAATH Fohe
Ammonium sulphate
Q7 G W &1 3057 & & v #F & Fus sy 2

Ans

e 7w Fwwt & FuR T A & g A= Hfae?
Y

Question 1D ; 9864495169
Status : Answered
Chosen Option : 2

I: AT Hr 3y A 9T B g F 10 3§ 3w

Il g7 #r /g T & 24 7% 31w 7

Which of the following statement is sufficient to answer the question?
Find the age of the mother from the given statements.

Statements :

I: Mother's age is 10 years more than her son
II: Sons age is 24 years more than daughter

(1
Fao || 9o § St | 3rdFer gaeg 787 2

Only II is sufficient while I is not



x o, A AR A & T #
Neither I nor II is sufficient
o | RN Bt e

Both I and II are sufficient
X4
Fao | qaica & &t || 3Far garca 7867 g

Only I is sufficient while II is not

Q.8

Ans

FiF & Fya T mF #7301 & F v w2

STEAT T W BRE YER wenT 27

U

|: $T==T 1 A T=EA £

II: A FT GT FWer F

Which of the following statement is sufficient to answer the question ?

How is Bhavana related to Sathish
Statements:

I: Bhavana's mother is Rajyam

II: Rajyam’s son is Satish

x o | AR et g

Both I and II are sufficient
b
Faer || gaeg § FafF 3dar | g 7847 8
Only II is sufficient while I is not
Faer | gaeg T FafF 3 || 9o 787 2

Only I is sufficient while II is not

1_1;r#fr3ﬂ1r;r€rllq'a‘n-—rr%|
Neither I nor II is sufficient

Question 1D
Status
Chosen Option

19864495181
cAnswered
|

Q9

Ans

A M B U S A 10 797 15 R A T mE ) B A o e o s
Tt e A o v 3 o e i) AR AT so Fee A See snfiae T e
)

A and B can complete a prece of work in 10 days and 15 days respectively, B starts the
work and 15 joined by A after Sdays. If they eam a total of T 60, what are their mdividheal
shares?

X 1.720,T 40
X 2325335
X 3230, 30
v iT24,736

Cuestion 1D
Status

Chosen Option :

- 9864492589
JAnswered

VOR TF e F 3T TEAT FAT gl

Ans

0, 1, 4, 27, 16, 125, 36,7

What will be next number in the series?
0,1, 4. 27,16, 125, 36,7

X 172

X 2144

vi25

Cuestion 1D
Status

Chosen Option :

;9864495179
;Answered




X 4343

Q11 Rrfafs & ¥ w57 waivT foreay sk, @il Ry sy = o Question 1D - 9864493332

dImEsmdSTaa .. 7
Which of the following is used in the preparation of tincture iodine, cough syrup and .
many tonics? Chosen Option : 3

e, YR o
Acetic acid
AUAT
Methanol
W 'i'

Ethanol
x 4 Seigen TiRE

Ethanoic acid

> 2

ez 4 2 2,6, 3 AT 8 mﬁ'ﬁ' &1 AT FHaar %’*’ Cuestion 1D - 9864492979

The median of the numbers 4, 2. 2, 6, 3 and 8 is: 5'51_“3 :Answered
Ans X' 1 4 Chosen Option : 2

v:235
X345
X43

O T F BT FL Question 1D ; 9864492539

23 — [23 = {23 — (23- 23 +23)]] g;tﬁ::mwed
Chosen n:

Solve the following:

23 — [23 — {23 — (23- 23 +23)}]
Ans OC 1, —1

X2l

X 323

vio

sin 8 cos(90° — 8) 4+ cos@sin(90° —8) = o Status : Answered

Chosen Option : 4
Ans B 1 9

X20
B |
Wi

Q.15 iT ?
R & HEtew & fon & sen, vt A e s Ateg Question 1D - 9864493213
According to Newlands' Law of Octaves, how many elements exist in nature? Status - Mot Answered

Ans K 1. 65 Chosen Option ;-

X 2 66
v 356
X 455

Q.16 )
Question 1D ;9864492668



W R de W Susaw i ifasta = Status ; Answered
T mrm w7 Chosen Option ; 2

After buying a toy for 745, Raghu managed to 5211 it at a profit of 1 5% The selling price
of the toy was:

Ans X1 F60
v 2 5175
X 3 ¥50.75
X 4 T51.25

Q7 3tx & Fuw oo o7 &7 5002 29 F BT g B2 Ao B aEeitEiag
X T AT 7T Hee? Status - Answered
EaiEN Chosen Option 1

|: UATeR® SRR O HErst & a9 & aner 52 &

Il: FEmr & W 2 ¥

Which of the following statement is sufficient to answer the question ?
Find the value of x.

Statements:

I Sum of squares of positive consecutive even numbers is 52
II: Difference of the number is 2

Ans (1
Fao | qaicg & FafF e || g 787 2
Only I is sufficient while II is not
52
Fao || 9o § St 3wFar | ga@cT 7847 2

Only II is sufficient while I is not
xs_ﬂ'ﬁ?la-ﬂi'?l‘ﬁ'ﬂ']lﬂ"%'%l

Neither I nor II is sufficient

x o | 3N At w2 F

Both I and IT are sufficient

Q.18 5o fremmy & T w 2.0 HeT #r T IEET AT i
; ok T e LR L Question ID - 9864493161
S v Status : Answered

(A 7 g=0.8 Aer R Tt #d3) Chosen Option ;2
An object of 5.0 kg is raised through a height of 2.0 m, The work done in the process is:

{Take g=9.8m/s*)

Ans 10
o1 i
10T
98
W %
98]

x o 1965
19.61

L
49

Q.19 g $r ofpmer = frws s ST ooreofas Gear 5T o ear 57 Question ID : 9964493600
Deefinition of Force can be stated from: Siatus - Answered

Ans x e HT i A HEH Chosen Option :4
1

Newton’s third law of motion



xz_mmﬂﬁrmmﬁm

Newton’s second law of motion

{_aqtaa;rgﬁran‘ma:rﬁm

Newton’s law of gravitation
x o I F =ity &1 ggen f@aw

Newton’s first law of motion

Q.20 7@ HiEaw FEAET F FO9 (AAEE) 89§ @9 e oiw & 7L

AT T AR TS mnsmn:nfsamsm
When electricity is passed through an aqueous solution of Sodiumn Chloride (brine). it Status - Answered
decomposes to fonm: . en Option -4

Ans 21 NaOH + H, + N,
< 2 NaOH + HCI + H,
X 3 NaOH + H, + 0,
« 4 NaOH + H, + CI,

Q.21 w7 & gy o Pefofaw # ¥ St & S0 & e s )
Question 1D - 9864492164
Hfrlr (whéain €2

India-bom Indira Mooy is the Chief Executive Officer {CEQ) of which of the fiollowing Status : Answered
companies? Chosen Option ;1

Ans x . @m
Amazon

afeHeRr

] PepsiCo
X3 P
Microsoft
T T
Coca Cola

75 4

Q.22 3 2005 2010 HiT 5 2003 W -1 -ardh e A
fesir 3 v, 2008, 6 3ATE, 2010 MY & RBwaT, 2013 w afy feEs- s e e
Fotmr amen &, o 5 v v TR R 3 o e ) PeaiEm A a RS
et 3 & arredra wrcw R A o ol R o
The dates 3-"ﬁ.pr1.1, 2005, 6* August, 2010-and 5® December, 2013 when wnitten i Date- Chicsen Option : —

Meonth-Year Form have a umque mathematical property. The Indian Independence Day of
which vear among the following has the same property?

Ans X 1. 2018
v 2 2017
X 32015
X 4 2016

A2 e & ¥ #IF T FFaT 39T BT a5 whar 2 et I 9BeAgRaET
Which of the following animals can change its sex? Status : Not Answered

Ans e (Snail) it Sl
v
Snail
X oier (Nereis)

Nereis

<



, HAATAA (Planarian)

X
Planarian

75 4 FnRE
Ascaris

U o 7 @ FF e 7=

S FrITEar &

Question 1D ;9864493264
Status ; Answered
Chosen Option : 2

Which of the following statements is true?

The velocity of sound is:

Ans X1_a€f3ﬂrnﬁﬁﬁmm
same in winter and summer

, s o R g R

independent of seasons

v e ¥ geer & af#t & it
more in summer than in winter

55 wieat $r goem # = F A

less in summer than in winter

x

Q.25 sfaran, Timn i gfter & SAEE g w I 4: 7 9 1 s 9 gEe,
SR T T T 56 uT| IR T W (I #) T BiEw

The present ages of Kavitha, Rajitha and Haritha are in the ratio of
4: 71 9. Eight years ago, the sum of their ages was 56. Find their present ages (in years).

Cuestion 1D ;9864492613
Status : Answered
Chosen Option 4

Ans. W12, 21, 27
X 220, 35, 45
< 316, 36, 28
v 416, 28, 36

Q.26 2016 & fror it & ot § wehr $eiies fomndr & =9 w2 Ser ar?
Which Indian badminton player won the sibver medal in the 2016 Rio Olympics?

Ans K1wm

CQuestion ID : 9864492160
Status - Answered
Chosen Option ;4

Rituparna Das
x , Hfe &=

Sania Mirza
x5 TS Agare

Saina Nehwal

s drar fay
PV Sindhu

Q.zr

Question 1D : 9864495175
Status : Answered
Chosen Option : 4




Ans

ore ® 9E T &1 T FEwrr F AT o7 I &
¥ WEET AT TR Rt & A W & mive?

T 1 @, AT FEIET TEEr gEne de F )
i 2 =, W ST e A W w i ow ok st P A
T A

Read the question and answer from the given information:
Should the govt stop giving permission 10 pew industries

Argumient 12 Yes, new indistries creste envircmunental pollution
Argument 2: Mo, New industnies improves employment and takes part in economic growth
of country

| adl | WEr ¢
I only is correct
xg;ra‘rlsm:rﬁllaﬁrafl
Neither I nor II is correct
oo AR AT I T R
Either I or II is correct
v T W

IT only 1s correct

X

428 gt 1 FrEifEE wiptas a8

Ans

The universal natural auxin of plants is:
X 1 NAA
NAA
IAA
IAA
X3 g ST
citric auxin
X 4 IBA
IBA

Question ID : 9864493116
Status : Not Answered
Chosen Option ; -

Q.29 =fy o sepes m v axd, av" | # T2t @ waa fee &, o gl avitoe e

Ans

e
A sequence o, ax,ax’, ar"  has odd number of terms. Then the median is

X1 ax%l-l

X 2 gqyn-1
n

753 gt

& n
Wi as

Question 1D ;9864492617
Status ; Answered
Chosen Option ;4

Q.30 Pt & of ¥R & T I F 3R O 5w e &

o F
T
g The arat ¥
e
1. TR ofer & o R
2, Fre AR W & E
Read the staterments and identify the logically comect conclusion from the given
infonuation.
Statement;
This scale is transparent
Conclusion
1. The scale is made up of glass
2. The scale 1s made up of plastic

CQuestion ID ;9864495174
Status ; Answered
Chosen Option ;4




Ans X 4
fasw (1) 3R (2) Q= 3FEROT FA B
Both I and II follows

| A || JTTEOT L €
Only II follow
ael | HFEIOT HAT &

Only I follow
v
Far | 3R T & TR =T

Neither I nor II follow

753

o l‘:; & FLEdH €9 &-

ﬁ; 2 when written in the simplest form 1s:

Ans 28
X =

il

5

X2

65

X2

10

Question 1D : 9864492921
Status - Answered
Chosen Option : 2

Q.32 few #o= # sl ofe gFes W T F B F 5 A e A e
& faw 39 & i fem i

Which author employved India’s obsession for ericket as the theme for his recent book
*Selection Day'?

CQuestion |D ; 9864492241
Status : Not Answered
Chosen Option : -

Ans X AT A9
Anil Menon

, fowm w3
Vikram Seth
 3ifRer Prdy
Amish Tripathi
mﬁa HfEaw
A:avmd Adiga

Q.33 fzdr o woF = I & ¥ v B A @ #iF @ sy o BN
for o wwt | x, v, z @ A AT fifaer

Question 1D : 9864495168
Status : Answered
Chosen Option : 2

U
Lx+y=12,x+z=4
I: x-y =8

Which of the following statement is sufficient to answer the question ¥

Find the values of x, v, z from the given statements.
Statemenis:

Ix+y=12:x+z=4

I:x-y=6

Ans {1



ol | TaTca § SafE |l Emer gaca 78 &
Only 1 is sufficient while II is not
x o | RN At g

Both I and II are sufficient
i
Faa || gareg & & | ke gdea J8T

Only II is sufficient while I is not

x4a;ﬁr3ﬂ¢;r€rllqw‘rq%|
Weither I nor 11 is sufficient

Q34 oo F & Fi9 W UGy 32 U0 F Ay ofvear F wiRfET w6 2
Which of the following metals reacts vigorously with cold water?
Ans m‘r
51

Zinc

X2 =

Aluminium
i

Iron
v« e

Potassium

Cuestion 1D : 9864493351
Status : Not Answered
Chosen Option : -

Q.35 = TE & ¥ g5 5 Feea @ - on fEee
QHURO 1: A 19 6 WAl A W0 A E A e 3w 10 Fese R
& s
EUNET 2 A T aE AT SewH aEEr 8

“Gn your werght by § Kgs m 3 sessions™ an advertisement
Assumption | : * if vou join in & sessions your Weight will be lost by 10 kgs .
Assmmption 2. “the company 1s dealing with weight gain programs™

" g AN AT AR B

Neither I nor IT 1s implicit

A ar | | saffa ¥

Either I or IT 1s implicit
| %ad | JafAfed &

I only is implicit
, Fad || AT ¥

IT only is implicit

X

X

X

Cuestion 1D ;9864495176
Status : Answered
Chosen Option 3

.36 Taeh Rffmer s A, TREE &7 3% USFF §1 70 AT & MANGO &1 $T &1
grm?
I£ 13 & centain language, TREE is coded as USFF, how is MANGO coded i that language?

Ans 21 NBOHP
X 2 BHONC
v : OPHNB
<+ NOPHB

Cuestion 1D : 9864495160
Status : Answered
Chosen Option :1

Q.37

Question 10 : 9864495178



& IS AW FH HISAT UG FIAT N2
3G, 6H, 11J, 18M, ?
Find the next terms in the series

3G, 6H. 11J. 18M, ?

Ans. K1, 270

X 220U

v 18P

X427V

Status
Chosen Option

- Answered
1

QI8 gemae o AE UF TEY A v WY PR @9 § i g afae
R | o g a9 g w0 R A, A gl aftw s Rl
FToAT:

Amn object having a mass ‘m* moving with a velogity *v' possesses a kinetic energy ‘K. If
its velocity is doubled, s kinetic energy will become:

Ans O 4 K2
v:24K
X 3. K/4
X 42K

Question 1D
Status

19864493446
CAnswered
Chosen Option :

Q.39 177 & FEg W FEL WET AT AT IR # & F UHAW 5§ 99ET
= & R qgmar o

Raman told Ananth “Day before yesterday [ taught the only brother of the danghter of iy
patemnal grandmother”. Whom did Raman teach?

Ans {1 31‘
Son
Nz H:I'Ié
Brother
HHE

Father in law

far
Father

753

X4

Question 1D
Status

Chosen Option :

- 9864495172
cAnswered

4

4924 60 3R 90 71 7. Faar &

The HCF of 24, 60 and 90 1s:
Ans x13

X212

vi6

X4 4

Cuestion 1D
Status
Chosen Option

- 9864492882
cAnswered
'3

QP QF & g @ aF &, & P, Q & frw weR wafua §2
If P is the brother of the son of Qs Son, how is P related to Q7

Ans
o FrsT
Cousin

Xzﬂré;

Brother

Question ID
Status
Chosen Option

- 9B64495161
tAnswered
|




X3‘1’IT-|T
Grand Son
K4.Tﬂ'

Son

O el # § #la @ FE 12 ¥ R 2 Question |D : 9864492644
Which of the following numbers is divisible by 12? Status : Answered

- x | 33412 Chosen Option ;3
< 263412
v 1 53412
X 4 43412

Q.43 migw & 20% & g o7t T 2803 dam W T ar?
2 T Y " g Question 1D : 9864492708
: : 5 ; ” y
Sahil sold an item for ¥ 280 at a loss of 20%, The cost price of the item was: Status * Answered

Ana K X 1,4{}‘3 Chosen Option -4

X< 2 T340
X 37336
v T 350

Q.44 i =1 Rfed & = AR & & 722 o o= SneeE ) 3 owET W ) ]
a9 W ¥ I S 3 e g e W W o and o g Cuestion 1D : 9864492119
T & T ' Status - Not Answered

Paul Revere was a patriot in the American Revolution against the British. Name the city Chosen Option - -
where he lives and died. The Paul Revere Houss is still located in this city.

ans R
<1

Chicago

e

Boston

Sfaeafaar

| Pennsylvania
FAITLST

Florida

¥ &

oA

75 4

Q.45 + 0§ o ® i
qRF R AT, T T, x T I+ @ W0 +5:7- 4 i in 8 15
* 30 F A F EET?

If + meatks <, + means —, — means =, = means +, then 10+ 35+ 7—-4 = 30=7 el Alewersd

Ans x1 4 Chosen Option -1

X226
X8
V10

Q.46 zow & Tomlt avg &7 10% & geww & d=n T 399 58 T 57w A &

#ar F T 200 W AN @A 30% A F BT aeg @ e we ww o Question 1D : 9864492728

TR Status : Answered
Yaman sold an item at a loss of 10%. I¥he had sold it for ¥ 57 more, he would have made Chosen Option -1
a profit of 20%. What should be the selling price of the item to make a profit of 3097
Ans  of 1 T 247
X 2322230

X 33228



X 4T 190

W T TMETER EI0T T AT B 4T g 82 Question ID - 9864493423

Status : Answered

What is the principal focus of a spherical mirror? Chssii Onticn <3

e xtug'-'hmma'&mmrnwﬁg%l

It is the midpoint of a spherical mirror.

W
TF SHE M 9T v Ry ¥ Bk anws § vaw s & weeer wen #
Ry SR 9 & o ofte A § @ e Al W e Ay & e A
femmd 3

It i the point on the principal axis through which rays of light paraliel 1o the principal axis
pass afler reflection or appear 1o be arising from this point on the principal axis.

<A
Tx T T g & W or & S et ov TR e @ Rt o o
e #er E

It is a point from which the mys of light appear to be coming from on the principal axis of
A COTVEX mirror.

X 4
7 TE wEe e & & e Maer 29 o R d)
It is the centre of a hollow sphere of which the spherical mirror is a part.

Q.48 37 smafers % & FwW ware e ofRT ol A e Fe g :
. R Sl i o Cuestion ID : 9864494455
tl = WA T Status : Not Answered
o I B

Name the spiritual leader who was honoured with a humanitarian award by 8 prominemst sen Option : -

Jewish human rights erganisation for promoting human dignity, interfaith relations and

tolerance among people.
e A &g

X o
Morari Bapu
HTHNITH 4919

X 2 i
Asharam Bapu

v T e
Sri Sri Ravi Shankar

x o T THT
Baba Ramdev

Q.49 vw T E F 2 e e e A s R A s i I T ) 9864493
TE AT T T g = 10 ms~? &Y, = A= 9T 3Fe gan Tl av & A = g Suestion|[D 98 061

A man lifts a lugaage of 2% kg from the ground and puts it on the head, 2.5 m above the Status - Answered
groumd. IF the value of g = 10 ms ™%, then the vahee of work done by him on the luggage Chosen Option ;2

isz

Ans X 1.2207
V26257
K32257
X 42257

Q.50 1. #r e & gf F dg FT Rt
13pm 97 a1 g5 ol i Al g Question ID - 9864492753

Status : Answered
What wall be the acute angle between the hour-hand and the mamte-hand at 2:13 p.m? r
Chosen Option =1
Ans  OC 4 1go
X 2165°
vise

X 41350



Q51 afE « ol - T+ sy M-Il & A : .
125 - 50 + 10 + 20 = 4 F7 &= Bre & & w0 @M Question 1D 19864495167

If % means -, + stands for +, + stands for + and - stands for x, which of the following Sialn A werEd
gives 125 =50+ 10+20 =47 Chozen Option -2

ans X 1.360
X 26246.5
X315
v+ 420

Q52 57 =afea & 99 Afew S Be 0 w9g F s ¥ S B
Find the person who does not belongs to the group Status : Answered

Cho Option : 4
e x| TR oY il

Rakesh Sharma
hedoT didell

T

oz g
Sunita williams

., FE% g eeh
Mahendra singh Dhoni

Q.53 Qo = P ¥ L #
A W & T J TR, AE T A O F A o = Question 1D : 9864493058
AZE FAT £7

Which part of the human reproductive system helps the embryo get its nutrition from the Status : Answered
mother's biood? Chosen Option : 2

Ans x , e

X 3 ®
Fallopian tube

x ;TS o

Cervix

Q.54 wry #r g otam ¥ & A% How ¥, Trwdr g W A wm F A _ )
oty wen, dtew i wE Er g W g A 27 §, & dftem s R MHID:QMW
4 Status : Answered

Satheesh is two years older than Goutham who is twice as old as Sai. If the total of the Chosen Option : 4
ages of Satheesh, Goutham and Sad s 27, then how old is Goutham?

Ans X1_13
X211
N3a12
W10

Q.55
Question 1D : 9864493459

Status : Answered
Chosen Option ;1




Mwigdwda R smisarsg i aw i ar
& feE & a1y T Truee w1 oftAnT R g 7

e A g v 10 AT o =t e
i a ball is thrown vertically upwands with a velocity of L3 m/s. then what will be the

magnitude of its displacement after & 57

(Take g = 10 m/s*)

Ans f1 GGT-ﬁE.T
60 m
80 HIEX
80m
L0 HreY
LOm
20 HEY

20m

F O

<A

X 4

O SIS & U HU] & GeIAA gl

The mass of one molecule of oxygen is

Question 1D : 9864493628
Status : Answered
Chosen Option : 2

sl 23 x 102 o

X
23%x107%%
23
X 2 43 x 10°° I&#H
43x10 23
23
x 3 3.3 x 10° I H
3.3x107%%g
23
P 53 x 10° IH
53x10 % g
5T & TS AT FT IS UE AT BT Queston ID :9864495177
Status - Answered
)(, V, T, R, P, ? Chosen Option :1

Find the next term in the series

b LT 1 o )
Ans O 4 N

X20

XaL

v H

0% R & ¥ P dEar asw B2
Which of the following numbers is composite?

Question 1D ; 9864493025
Status : Answered
Chosen Option : 3

ans X 1271
X2 241
X 3 261
V¢ 251




Q.59 fav A Fww # BET A, o & o v A o e ol A A o
7 dfaw fr wiF w e afes w7 @ B3 v s @ sgEe w5

T

Question 1D : 9864495173
Status : Answered
Chosen Option -1

Fo Trrg e & wh o B
forerd

1. 7 femr = §)

2. 3o e a7

Consider the given statement to be true even if they seem to be at variance with the
comanonly known facts and decede which of the given conclusions logically follows from
the given stmemnem.

Statement:
Sope spoons are glasses, All the plates are glasses
Conclusions

1. Some glasses are plates

2. Some glasses are spoons

e
sy (1) 3R (2) ST egEToT FA
Both(1) and (2) follows
Fae fAsHY (1) IHTEIOT T €

Only (1) conclusion follows

Ans
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A fsd (1) i T & BT (2) s Fa E
Neither (1) nor (2) follows

| Ao SRy (2) W7 HI B

Only (2) conclusion follows
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Which of these cities located in the state of Gujarat is famous for its diamond industry?

CQuestion 1D : 9864492110
Status - Answered
Chosen Option 1

Ans o
F
Rajkot

A
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Who among these union mindsters in the PM Narendra Modi cabinet belongs to the Shiv
Sena party?

Cuestion 1D 9864492257
Status : Answered
Chosen Option -1
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Wani 15 facing East direction. She tums 80°clockwise then 135 Anticlockwise and
45%clockwise, then in which direction she is facing now?

Ans x1@.

East

x . ST

. South

Question 1D : 9864495170
Status - Answered
Chosen Option :1
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Read the question and answer from the given information:

Pravalika is studying 10® class. is Pravalika elder than Pranitha who is her classmate?
Argument 1: Yes, as she is her classmate Pranitha is younger to her
Argument 2: No, as she is classmate Pranitha is elder 1o her.

Ans

o, T | AT 1| SHTEROT FA T
Either I or II follow

Xz

Far | 3T & FEOT HAT B

Neither I nor II follow

v, T | SERT FA B
Only I follow

- Faol |l IFEIOT LT &
Only II follow

Question 1D : 9864495164
Status : Answered
Chosen Option ;1
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If tangents PA and PB from a point P to a circle with centre O are inclined to each other
at an angle of 1107 then the angle POA is:

Question 1D : 9864492538
Status : Answered
Chosen Option =2

Ans  OC 1 700
W 2 350
X 3. 50°
X 4. 45°

Q65 ngaE (shell) & FaEMTITST e o goa 99 seiweiAl S HEwT
The number of electrons that can be accommodated in the M shell is:

Ans B 1 8

Question 1D : 9864493134
Status : Answered
Chosen Option ;1
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A% et 3 @ faww A1 ogE FT Question ID ; 9864493409
Pick the odd one out from the following: Status : Answered
Chosen Option - 1
Ans O 4 NH,OH

v 2 NaOH
X 3 Cu(OH),
X 4 Zn(OH),

Q.67 wraht 2018 7% Fo0ey el & HaEn Tiew v SeanT Aame & S
o = Cuestion ID : 9864492298

i =t #7
Who is the Union Minister of the Ministry of Commerce and Industry as of Febnary Status - Answered
20187 Chosen Option ;4
Ans
x o 3 HAT
Uma Bharti
W HITA
Xz
Sushma Swaraj
v o 9y
Suresh Prabhu
X 4 HTee i
Anand Geete
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%ﬁumaﬂmmﬁ,—mg—? Question 1D - 9864492329

Which mobile manmufac the rights in 2017 to be the o this Status : Not Answered
turing company won in 2017 to be the sponsor e
Indinn male Cricket Team for five years? Chosen Optlion : -

AN ey

BlackBerry

FaT
Karbonn
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Q.69 : -
FAEF FT FEAT ET HEY FEUT 27 Question |D - 9864492423
The Kambala festival of Kamataka is essentially associated with what? Status : Answered

Ans s sen Option :
x1_nr§i£rasré Chosen Option : 2

Bull fighting
4 sfeardr e
Tribal dance
. e s
Buffalo race
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Cock fighting
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10 people could complete a task in § days. After 4 days, 2 of the workers left. How many
days from then did it take to complete the task?

CQuestion 1D : 9864492870
Status - Answered
Chosen Option : 2

Ans ?{1 8
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Question 1D : 9864495162
Status : Answered
Chosen Option 3
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Consider e given statement o be true even if they seem to be at varance with the

conumonly known facts and decide which of the given conclusions logically falkows
from the given stabement.

Sialement:
Some tigers ane cats. All the cats are mis,

Conchusions:
1. All the mls ave cars
2. Sanse of the ligers are rats

Fae fAsHY (1) IFFEIOT T &

Only (1) conclusion follows

Ans

G
v:
sy (1) 3R (2) Q=T 3FEROT A
Both (1) and (2) follow

| Ao SRy (2) HETOT HI B

Only (2) conclusion follows

X

754
= ar fasey (1) 3R 7 & AT (2) sgEvor #ar g
Neither (1) nor (2) follows
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Mamatha is walking towards Novth, After walking 4 kms, slve tumns right and then walks
for 3 kms. Now how far and in which direction is she from the starting point.

Cuestion 1D : 9864495183
Status : Answered
Chosen Option :1

it 3eaX 9@ - 5 kms
© 5kms-NE
EﬁWT"{éf- 5 kms
* Sk < SE
Eqﬁ‘im'- 7 kms

7 kms - West
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IcaY 9T99H - 6 kms

r
6 kms - N-W
Q.73 2w 7w YR ® TR AT, 89 & 3% A A O e ol A w A ) .

7u #ifaw fF w7 W et afes 59 @ BE 0 wya @ e a1 Queslion ID : 9884435163
. Status : Answered
W FE H AT & Chosen Option ;2
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Consider the given statement to be tree even if they seem 1o be ot variance with the
comunonly known facts and decide which of the given conclusions logically follows from
the given sintement.
Statement:
This bow] lsas soup.
Conclusion

1. The bowl has tomato soug

2. The soup 15 teo hot.

s x1_mlu€r?|

Only I is correct

5, 7 ar | 3 8w E
Neither I nor II 1s correct
v | AT e wr

Both I and II are correct

, ael || HEr E
IT only is correct

AT & o m & 3T @ 9 AT HIfaAT- Question ID : 9864495165

Slatus - Answered
J! L: Or Sr ?l ? Chosen Option : 3

X

Find the next two terms in the series
1.0, 8. 2.9

am X 1.X, Z
VoA B
XX, D
X4+Y, B

O et 1 ¥ o A A gicduesar g &7 Question ID :9864493185

Which of the following has low resistivity? PIMUE FAnsWeTRd
Chosen Option ;4
Ans Iy

1
Glass

X2 e
Diamond

galfeie

753

Ebonite
ARTHIH
Nichrome
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